TURBO srl SERIES
ronnu ST COLLECTOR FILTERS I

THREADEI

PULSE VALVES

x J\i{nf Iil 5T AND MATERIALS |

PILOT GROUP FOR INTEGRAL PILOT OPERATED VALVE

HH

on “

0|

VALVE GROUP FOR REMOTE PILOT OPERATED, MODEL "FM’

® 5

S MODEL "FP"

i

Tma

MATE RIAL CODE ]

[ITEM | DESCRIPTION | QTY STD [ OPTION FP20 | FP25 | FP40
1 CORE TUBE 1 BRASS SST P10 TP10 P10
2 PLUNGER 1 SST - NGP NGP NGP GP10 GPC10*
3 NUT 1 SST - M10 Mi0 1410
4 colL 1 PBT BHi0* | BHi0* BH10 *
5 CONNECTOR i POLYAMID - PG9 PG9 PGY
6 SILENCER 1 - POLYAMID |  SS Ss SS
* ADD DESIRED POWER SUPPLY

MATE RIAL CODE

(ITEM | DESCRIPTION | QTY STD | OPTION FP20 | FP25 | FPA0 | FM20 | FM25 | FMac
7 BODY 1 ALUMINIUN - 820 B25 B40 B20 B25 B40
8 DIAPHRAGM 1 NEOPRENE VITON M25 M25 1425 M25 M25 M25
9 MAIN COVER 1 ALUMINIUM - c20 C25 C40 . CFM20 CFM25 CFM:
10 SCREWS 4 SST - M6x18 | M6x18 14618 MBx18 | . M6x18 M6x1
At ADAPTER 1 BRASS - - . - RD18 RD18 RD1!
12 | MIDDLE COVER | 1 ALUMINIUM - - - CM40 . - CM4(
113_ IAIN 1 NEOPRENE | VITON - z 1440 ) M40

DIAPHRAGH .
[ 14 SCREWS 6 SST I 118720 z M8~




